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Full Marks: 60
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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten from the followihg: 2x10=20

Awa @ P ™IF 208 T WS 8
(a) Why does money have time value?
o (@ AR TV =2

(b) What is the wealth maximization objective in financial management?

i I o TR ST e
(c) Mention any two sources of short term financing.
T8GR WA @I 4 SR S I |
(d) What do you mean by cost of debt?
A AR I IS QA2
() What is meant by optimal capital structure?
Y AL P L0 A QRIT?
(f) What does degree of financial leverage indicate?
Wit Fremres wa & Fom #Ee
(g) Define capital budgeting.
T ACHBL-9F G WG |
(h) What is accounting rate of return?
i efone 2w fe
(i) What does negative NPV mean?

YoIYE NPV 600 I QA2

27124 Please Turn Over




CHVI/CC-XITI( 6.1)(N&

2. Answer any four questions from the following:

(2)
0)/23
by Z€r0 working capital?

(j) What do you e F QN7
Gl
gl A T o of temporary working capital financing.

&);f;gionmoz’:;;awﬁwgﬁ%m@mwml

(1) What is meant by gross working capital?

(m) What is meant by relevance theory of Dividend Policy?

oo Tfea eriRe ©F O F @RI ?
(n) What do you mean by weighted average cost of capital?
SIS T TR TH TS A QACH 2
(0) What is dividend payout ratio?
oIl B ATS B2
5x4=20
A3 @ @ B s Tew e 3

(a) Briefly discuss the core elements of financial management.
S JFAI T SolmAeten FRewee el S |

(b) How is the accept-reject decision taken in the profitability index method of capital
budgeting?
T M- ATl 3 stwfore T A Brals @eat 27

© Effecﬂve nanagement of working capital improves overall financial health of the
business”. Discuss.

WﬁmewwWwﬁ%mmm”—wmn

(d) Raj Auto Limited ;
- ;05 %00 :I:l:d 1s' about to launch their new electric scooters at a selling price of
z 75 000 andd <t:h I; 18 estimated that the variable cost of manufacturing a scooter is
S GTBitied 1oy :ralxed Project cost is ¥ 60 crores per year. What will be the degree
. 8¢ if the estj ;
of the project is ¥ 100 crope, :mated sales are 1 lakh scooters and the interest expenses

(X oy w3]

Perating income of ¥ 2 lakh. It has ¥ 10 lakh 6% debentures.
te is 10%. Compute the value of the firm and the cost of equity
Income approach.

(e) :?h Ccompany €Xxpects a net o
e ov.erall Capitalisatioy, ra
according to pey Operating

What would be
. the eff
Increase by 1 5 tirnesoem On the valye of the firm and the cost of equity if debentures

Rewfer o w8ay)
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(f) Ghosh Industries needs funds for a new project of about X 100 lakh. It has two options,
one is a 15% institutional term loan and the other is a 14% non-convertible debenture.
. The debentures would have to be issued at a discount of 3% and would involve an issue

! cost of ¥ 1 lakh. Which would be the better option for the company based on effective
| cost of capital assuming a tax rate of 50%?

X o 78]

3. Answer any two questions from the‘following: 10x2=20

A @ @I 76 2 T e s

(a)_ “Distribution of dividend has no effect on the value of the firm.” Discuss the statement
in the context of MM model.

“Toped ot PG YR Bota @I o e A 17 MM e Afefrrs e
Ao IR |

(b) On the basis of the following information relating to Arjun Ltd, you are required to
prepare a statement showing the working capital required to finance 90% level of activity.
Presently the company is operating at 60% level producing 36,000 units per annum.

(i) Cost-price structure per unit:

Selling price per unit: ¥ 10
Analysis of one rupee of sales:

| Raw Material Cost % 0.40
Direct Labour Cost %0.20
Variable Overhead Cost ¥ 0.20
Fixed Overhead Cost % 0.10
Profit %0.10

T1.00

(ii) Raw materials are expected to remain in store for an average period of 2 months

before being issued for production and materials are in process on an average period
of 1 month.

(i) Finished goodé remain in store approximately for 2 months.

(iv) Credit allowed to debtors is for a period of 2 months.

(v) Credit allowed by creditors is for a period of 3 months.




i —
(4)

of wages and overheads is for a period of 1 month.

production is carried on evenly during the year and wages and

CH-VI/CC-XIII(6.1)(N&0)/23

| (vi) Lag in payment

It may be noted that
overheads accrue similarly.

[ o @3]

ted average cost of capital from the following information of a

(c) Calculate the weigh
company:

Sources of funds |Amount (3)| Before tax cost (%)
i Equity capital 4,50,000 15 ‘:
‘ Retained earnings | 3,00,000 13 '
Preference capital | 2,25,000 16
Debentures 5,25,000 12

Assume tax rate at 30%.

REEECR S

(d) Excel Advertising Agency is considering the purchase of a new computer with specialized
software needed for its graphics design. A local vendor has submitted a quotation to
the company for ¥ 45,000 for the computer and X 10,400 for the software. The company
could sell the computer for ¥ 6,000 at the end of three years. The software would have
no salvage value at that time. Management believes that the new computer system will
improve the operations and benefits worth ¥ 40,000 per year before taxes. The company
uses a 10 per cent discount rate for this investment and has a marginal income tax rate
of 50 per cent. The computer will be depreciated for tax purposes over three years on
a straight line method. The software can be written off immediately for tax purposes.

Advise whether the company should go for purchase of the new computer. Use NPV
method to evaluated the project.

Given:
Year 1 2 3
P.V. Factor 0.909 0.826 0.751

[eafer et @8
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(3)
B.Com. 6th Semester (Honours) Examination, 2023 (CBCS)
Subject : Fundamentals of Financial Management
Paper : CC-XIII (6.1 CH)
(Old Syllabus)
Time: 3 Hours Full Marks: 60
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

2x10=20

1. Answer any ten questions from the following:
NG @ R W S TE WS 3
(a) Define financial management.
T JIYAR TS WS |

(b) Mention any two major decision areas of financial management.
wife YT I o Frarstsn Tor I
(c) Mention any two sources of short-term financing.
TR T A G ST oy I
(d) What do you mean by cost of equity?
3R TREE I TS F Qe
(e) What is business risk?
‘ i 3 e
() What is financial leverage?
wiftks fres At
| (g) Define capital budgeting.
TR OGRS
ting rate of return?

(h) What do you mean by accoun
ﬁamimawamw'ﬁ@m?
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() What is meant by NPV of an asset?
G T NPV &0 & @R
(@ What do you mean by negative working capital?
FR IS T = @ @R
(&) Mmﬁonmytwomtmdfﬂfﬁmmglﬂmmuywuﬁngcaﬁml.
R TR T TEREER & R B S Sme v
(D What is meant by net working capital?
S TR e T D @REr
(m) What is meant by external equity?
IR W =  @REr
(n) What is bonus share?
RFF R e
(0) What does dividend payout ratio imply?
O TN SeEe N s @

2. Answer any four questions from the following: 5x4=20
BT & R HES avew e We
(a) Briefly discuss the core elements of financial management.
Wi JIGHTE T SARRER TR S |

(b) State the limitations of payback period as a method of project evaluation.
AT TR RS A RN siRea 3 (payback period) “_feT Aesef Rys
3G

(c) Discuss the importance of working capital management.
IS T JIFR OFT WEIS G|

(d) R Limited sells a product at a selling price of T 70 each. The variable cost of it is T 40 per

unit and the fixed cost is T 6,00,000 per year. What will be the degree of combined leverage
if the estimated sales are 1,00,000 units and the interest expense is I 2,00,000?

T 2 w39

(¢) A company expects a net operating income of ¥ 50,000. It has ¥ 2,50,000 6% debentures.
The overall capitalisation rate is 10%. Compute the value of the firm and the cost of equity
according to the Net Operating Income (NOI) approach.

What would be the effect on the value of the firm and the cost of equity if debentures increase
to I 3,75,000?

& o 98]
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(f) Kim Industries Ltd. needs funds for a new project ©
is 15% institutional term loan and the other is 14% non-
would have to be issued at a discount of 3% and would i
Which would be the better option for the company pased on €
a tax rate of 50%?

£Z 100 Jakh. It has two options, one
:hle debenture. The debentures

nvolve an issue cost of Z 1 lakh.

ffective cost of capital assuming

(R et 989]

. 10x2=20
3. Answer any two questions from the following:

AGT @ T 7O A0 TEI M8 ¢

(a) Discuss MM model relating to dividend policy.
et RS TS MM TeH e I

(b) You are required to prepare a statement showing the working capital requirement of Deep

India Ltd. for financing 90% level of activity from the following information:

(i) Cost-price structure per unit:

Selling price per unit: T 20
Raw Material Cost T8
Direct Labour Cost T4

Variable Overhead Cost T4

Fixed Overhead Cost X2
Profit 22
T 20

(i) Raw materials are expected to remain in store for an average period of 8 weeks before
being issued for production and materials are in process on an average period of

4 weeks.
(iii) Finished goods remain in store approximately for 8 weeks.
(iv) Credit allowed to debtors is for a period of 8 weeks.
(v) Credit allowed by creditors is for a period of 12 weeks.
(vi) Lag in payment of wages and overheads is for a period of 4 weeks.

(vii) Cash in hand and at bank is expected to be ¥ 10,000.
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(viii) Presently the company is operating at 60% level and it is producing 18,000 units per

annum.

(ix) It may be noted that production is carried on evenly during the year and wages and
overheads accrue similarly.

(e e wo)
(c) Calculate the weighted average cost of capital from the following information of a
company:
Sources of funds | Amount ) | After tax cost (%)
Equity capital 9,00,000 15
Retained earnings 6,00,000 13
Preference share 4,50,000 16
capital
Debentures 10,50,000 12
(Fcafer e @8]

(d) Burdwan Ltd. is considering two mutually exclusive projects. The initial cash outlays
of both the projects are estimated at ¥ 10,00,000 each and have a life of 5 years. If the
company’s required rate of return is 10% and pays tax at a 50% rate, which of the two
projects should be accepted using the payback period method? The project will be
depreciated on a straight line basis.

The cash flows expected to be generated by the projects are given in the following table:

Year 1 2 3 4 5
Project A )| 4,00,000 | 4,00,000 | 4,00,000 | 4,00,000 4,00,000

Project B () | 6,00,000 | 3,00,000 | 2,00,000 | 5,00,000 | 5,00,000

XEfE 2w 78]




